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HreAtHeh e, 2010
SECONDARY EXAMINATION, 2010
Tfura — gt o=
( MATHEMATICS — Second Paper )
9 3% HUL
quiiek : 40
et o forg v fdr

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Tenel FaYey Y4 Y9 U9 W A A fod |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

qff e AfEE © |

All the questions are compulsory.

YIS I H1 I & TE IR-Yheaen # & fag |

Write the answer to each question in the given answer-book
only.

59 997 & T 9 eifus gaE i a9l 9 €, S99 9 o g Uk
19 Fad fod |

For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

3T IR-YRh o g8 & SFl iR fafaw | afe =18 T & & T,
@ IW-YiEaert & ifad g W IR 3= TRt ol § w31 |
‘T @ faw

Write on both sides of the pages of your answer-book. If any

rough work is to be done, do it on last pages of the answer-book
and cross with slant lines and write ‘Rough Work’ on them.
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6. YUY HHG 259 26 AT{H fdhed & |

There are internal choices in Question Nos. 25 and 26.

7. U A 29 7T Afd TS T |
Question Nos. 2 to 7 are Very Short Answer type.

8. U HUH 1% IR AN (i, ii, iii, iv ) § 3R Y% 9m § IR faehey
A, B, C3iR DRy MU € | W&l SAUeR SW-Yiaeht # =R drferen
TN RS :

There are four parts ( i, ii, iii, iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :

U9 HHih el ST T HUTER
Question No. Correct letter of
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)
1. () 99=<R =wq4s ABCDW/ A = 70°%), @ £ BHI A §
(A) 20° B) 70°
(C) 110° (D) 90°.
In a parallelogram ABCD, £ A = 70°, then the value of £ B is
(A) 20° (B) 70°
(© 110° D)  90°. >
@ AT (x,3) 3 (5,7) FATH g 58, A xHAF
A 2 (B) 4
) O (D) 3.

If the distance between points ( x, 3 ) and ( 5, 7 ) is 5, then the
value of x is

A 2 (B) 4
© 0 (D) 3. %
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(iii) sin 6 cosec B + cos 6 sec O T T
A 2 (B) 1
) O D) - 1.
sin 6 cosec 6 + cos 0 sec 0 is equal to
A 2 (B) 1
© O D) - 1. =

(iv) fo9 ¥ =99 EC Sftar AD & 99=R Td £ ABC = 50° @, 9 £ CAD &1

e ®
B
50°
0]
E - c
\L)
A '\\/ D
(A) 50° (B) 40°
(C©) 130° (D) 25°.

In figure, if the diameter EC is parallel to AD and £ ABC = 50°,
then the value of £ CAD is

B

50°

(@)

E g C
.//'
A \/ D
(A) 50° (B) 40°
(C) 130° (D)  25°. =
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2. foa & ABCD 3R AEFG T ¥R =@y« € 19 2 € = 60°%, @ £ GFE

&1 7 fafEw |
D C
G | F /
A E B

In figure, ABCD and AEFG are two parallelograms. If £ C = 60°, write
the value of £ GFE. .

D C
G | F /
A E B

2
3. U g9 & 39 =9 H1 99 fafaw, St g9 & AT 907 R GHRI S |

Write the name of that arc of the circle which subtends a right angle
on the remaining part of the circle. .

2

4., frdt ot & go@ oid (-5, -4)3R (3, 2 ) T | 39 fawol =t T
fafam |

The opposite vertices of a square are (-5, — 4 ) and ( 3, 2 ). Write the
length of its diagonal. .

2
sin* 0 -cos*0
sin260-cos?20

&1 g fafeag |

sin* 0 - cos*0

Write the value of nZ0 —cos20

N —
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6. T 3Tgod & AW 8 HHI T | IHHT &%l 1 TH J1d AT |

. . . . . 1
Diameter of a semicircle is 8 cm. Find its area. 5

7.  rT3o0 9 g9 % R W 180° HIV ARA HIA dlel 919 i g fArEy |

Write the length of arc which subtends an angle of 180° at the centre

. . 1
of circle of radius r. 5

8. fom e # o=, TRE= R 7<= TH 71 7, 39 Fys &1 9 fafaw |

Write the name of the triangle, in which the orthocentre, the incentre

and the circumcentre are the same. 1
9. gu ¥ forsl & Fremed &R 7% eifaw fagslil @ v arer =g & iR & &1 A
fafEm |

Write the name of area enclosed by any two radii and arc determined

by the end points of the radii. 1

10. TH §Harg A4St ABCH, AD 41 BC W @& &I, @ AB2 : AD2 <l J1d
HIfSTT |

In an equilateral triangle ABC, AD is perpendicular to BC, then find

AB?2 : AD?2. 1

11. 3 sin 60° — 4 sin 3 60° & HM Jd SIS |

Find the value of 3 sin 60° — 4 sin 3 60°. 1
12. I TH=qs &t yssii & o &1 A 64 M W B, q ITh fawoil &k S HI

RILEICICIE

If sum of the squares of the sides of a rhombus is 64 sq.cm, then find

the sum of squares of its diagonals. 1
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13. famd afg L ADC = 80° %, 91~ CBE &1 #F fafEw |

D
C
E
A B
In figure, if £ ADC = 80°, then write the value of 2 CBE. 1

D

c

E
A B

14. foa % 99 1 &= 0 3R 0C, 2 ACB 1 gafgyN® € 1 9fg AC = 49t &1, @t

BC J@ &ifed |
C
0
A B

In figure, O is the centre of the circle and OC is the bisector of

/ ACB. If AC = 4 cm, then find BC. 1
C
O
A B
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15. 59 foaelil & @ 99 WER A 3R B W Fed © | Al IvyafTss sfran

AB = 6 9Hl 81, A1 37 %l & o9 1 g 1 RIS |
Two circles of radii 5 cm intersect each other at A and B. If the
common chord AB = 6 cm, then find the distance between their

centres. 2

16. Th AU I e, Arerl X FuE &1 4 19 9t § qen faeol &t g
119 & | 51y 1 Heul g &hel {Id i |

The sum of length, breadth and height of a cuboid is 19 cm and the
length of its diagonal is 11 cm. Find the total surface area of the

cuboid. 2

17. = & T8 9RO § Hice g& hl Tl fo3 ST A1 &6l i TUET FHiST ¢

e
e Ddsh
150
Ed® 75 125 Cd&® 50

100 BT 25
o AT IW I 3R

From the table given below, prepare a rough diagram of the field book

and calculate the area. 2

Metre
e Upto D
150
75 towards E 125 50 towards C
100 25 towards B

e From A
towards north
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18. TS ABCH L A1 GAfgWS® ADT | ABTS AC W @ HU: DE a9l

DF ¥ | fag wifsw f% DE = DF.

In a triangle ABC, AD is the bisector of £ A. DE and DF are

perpendiculars on AB and AC respectively. Prove that DE = DF. 2

19. o9 & PQRST& @A §, <1 PQ = 109H a1 QR = 7 4 § | 3d &

T I R FAAER gaE o & g9 ©ig T € | SEifed 9 w1 awa
1A SHifST |

dia.

In figure, PQRS is a rectangle. The side PQ = 10 cm and QR =7 cm.

As shown in figure circles of same radius are drawn at each vertex of

the rectangle. Find the area of shaded portion. 2
dia
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20. T sec O + tan 6 = p T, A fag HIfwC fH

p -1 _
pZr1 sin 0.
p2-1
If sec 6 + tan 6 = p, thenprovethatp2+1 = sin 6. 2

21. Acfag A(2.5) IR BA TN A @ wE R fag P (-1, 2 ), 3: 4
& U ® ofa: fawfeaa e €, @ B & fdvnes 3 wifsw |

If the point P (- 1, 2 ) divides the line segment joining A ( 2, 5 ) and

B internally in ratio 3 : 4, find the coordinates of B. 2

ape 3cot(90°-0)—-tan30
22. I H =30°%, d =5 col2(90°—0) 1 HF Fd ST |

3cot(90°-6)-tan3 6
1-3cot2(90°-90)

If 6 = 30°, then find

23. Afg fodt 3 & I=E, dHYS R M@AT FAW: h, c AR v B, q@ fOg
Hifse foh

3a7vh3 —-c?2 h?2 +9v2 = 0.

If h, c and v are the height, the area of the curved surface and the

volume of a cone respectively, then prove that

3nvh3 -c?2 h?2 +9v?2 = 0. 3
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24. fFHd @ &t =93 F1 AV THAA R fod T fog ¥ 15°% | WET HT ST

100 HeX e T I9aiel 30° Bl Sl & | TF9 &1 SeTe J1d ST |

The angle of elevation of top of a pillar from a point on the ground is
15°. On walking 100 metre towards the pillar, the angle of elevation

becomes 30°. Find the height of the pillar. 3

25. o9 ¥ PAQ PBU& 99 &l T W € | 99 W & fag M e, @1 fag HifS
f& PL + LM = PN + NM.

31T

TH ga H PQ X PR §HH e € | fag wifew f& fag P woef Y@
el QR % HHER &R |

In figure, PA and PB are tangents to a circle. If M is a point on the

circle, then prove that PL + LM = PN + NM. 3

OR

If PQ and PR are two equal chords of a circle, prove that the tangent
at P is parallel to the chord QR. 3
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26. S ABC &1 T &ifoe, f59H BC = 5:8 ¥Hl, £ A = 65° a4 @
AD = 3-1 9 & |

SR

IYS ABC &t =1 SIfST, Sdfeh BC = 4-8 §Hl, £ A = 70° Ad1 A ¥ HIf&ahi

3-2%H B |

Construct a triangle ABC, in which BC = 58 cm, £ A = 65° and

altitude AD = 3-1 cm. 3
OR

Construct a triangle ABC, when BC = 4:8 cm, £ A = 70° and the

median from A is 3-2 cm. 3
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